Appendix 7
Dilemma - 1

Oral presentation with line drawings on the black-board

The $hah family is a family of six,
Ramanbhai and Sushilabahen have two : : :
sons, Sanjay and Sameer, and two : : Pre-discussion: Post-discussion:
daughters, Swati and Shruti, All : choice : choice

the four children are adolescents.

Ramanbhai’s parents - Manibahen and : :
Bachubhai - also live with them. :{1} Parents should listen : 40 {8 boys} :

Sanjay and Sameer are allowed all : to girls : :

sorts of freedom - use of car, late : :
nights, mixed company, out-of- :(2) Parents should listen : 12 (2 girls):
station pienies . . . Swati amd to grand-parents :
Shruti have restrictioms, like be : :
back before 7.00 in the evening, no :(3} Any other option 9
out-station picmics or  mixed : {a compromise was :

:When this group :
:finished arquing:

parties ete.

Both the girls demand equal freedom
but grand-parents point out that
for girls, good reputation in
society  is  very  important,
especially from point of view of
marriage. It 1is better to keep
girls under vigil.

Q. Whom should the parents listen
to?

{1} 8irls
{2) Grandparents
(3} Rny other option

suggested-Not too
many restrictions
but not too much
freedom or misuse
of freedom -

applicable to both,

boys and girls)

:the boy who pre-:
:sented the argu-:
:ments wrote {3} :
:on the black-
:board, marked an:
;emphatic _/ on
:it and the class:
:clapped :
enthusiastically:

Note : The number of total studeats for pre and post discussion response

may differ because not necessarily all students responded.
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Dilemma - 2

Oral presentation with flash-cards

You are a member of the legislative assembly. EEECEE TR LR E TR T
At present all the girls in Gujarat get free : Pre-discussion : Post-discussion
education at all levels. There is going to be : choice : choice

a fresh debate in assembly over the issue and I ECECILECT T R LR
your opinion is crucial. : :

0. What will you do?

(1) Support free education for : 39 {10 boys) : 1
girls : :

(2} Oppose free education for ;12 (2 girls) : 2
giris : :

{3) Bny other option :o- Y

: Pree education
: to poor boys &
: girls
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Dilenma - 3

Oral presentation with line drawing on the black-board

Mira is a bank officer earning a very good salary.: ---------------- R LERCECET RS
She meets Sanjeev. Sanjeev earns much less than : Pre-discussion : Post-discussion
Mira but he is intelligent and also a very mature : choice : choice

good natured person., HMira and Sanjeev fall im; ------e---oio--- R TR
love and want to get married. Hira's parents : :

oppose the idea of marriage whereas her sister :

advises her to go ahead.

0. What should Mira do?
{1} Marry Sanjeev ;35 ;45

{2) Listen to her pareats’ advice :
and not to marry Sanjeev ;16 : 6

{3} Any other option : - : -
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Dilemma - 4

Role-play enacted by students themselves

In the school's parent-teacher association meet-
ing, one group of parents suggest that girls’
uniform needs a change. Skirts and pinafores
should go. Instead comfortable shorts amd shirt
should be introduced. Shirts and frocks restrict
free movement during sports and physical activi-
ties or games in the recess. They make girls

conscious and hamper development. The other group

opposes saying that skirts and frocks are more
appropriate, graceful and socially desirable.

0. What decisicn should the Principal take?
(1} Change the uniform

(2} Kot change the uniferm

{3} Any other opticn
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..................................

Pre-discussion : Post-discussion
choice : choice

..................................

25 (all girls);No voting.

4 {8 girls) :Very hot discu-
:gsion, arguments
ccontinue till
:the end.

10 : -

:6irls can come to:
:school in skirt/ .
:pinafore and

:change inte shorts
:for B.T./sports. :



Dilemma - 5

Story-telling with the help of line drawings

Sheila Desai i5 a wellknown writer whose books R LR E T R T
are very popular. She marries Sharad Chauhan, : DPre-discussion : Post-discussion
a buginessman. . choice : choice

0. After her marriage, should Sheila,

{1} ‘take up Sharad's surname and

become Sheila Chauhan? : 34 : 10
{2} retain her own surname? : 18 : 1
{3} Any other opticn : - 20
{e.g. Sharad should take up : :Both should
Shaila’'s surname or both : iwrite a combined
should write a combined : :hypenated
surname iike Desai-Chauhan :surname like
or Chaphan-Desai or only : :Chavhan-Desai &
Shaila should write a : :Desai-Chauhan.
combined surname) : :Brobe questions
: :played a crucial
:role.
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Dilemma - 6

Story-telling with large photographs cut out from calendars used like flash-cards

This is Rupa. The photograph shows her wedding
cerenony. Here are her parents and here is the
bridegroom. Rupa feels that even after her
warriage, she should be given an equal share in
her parents property. The second photograph
shows Rupa’s two brothers who do not like the
idea of Rupa getting an equal share in the
property.

¢. What should Rupa’s parents do?
{1} Give Rupa am equal share

(2) Divide the property only
among the two brothers

{3} Rny other opticn
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Pre-discussion : Post-discussion
choice . choice

34 (10 girlst) ; 35

20 (all girlsll) 14



Dilemma - 7

Film clip recorded on video

The film clip is taken from the Hindi film : -----evveemonnes R EEEACEEETEEES
‘Aandhi’ directed by Gulzar and starring Sanjeev : Pre-discussion : Post-discussion
-kumar as J.K., Suchitra Sen as Aarti and Rehman : cholce ; choice

as Rarti's father. B R ERREEEEEEE e

Aarti’s father is a leading political fiqure.
Rarti has married J.K., a hotel manager despite
her father's opposition.

The scene on video begins with Aarti and J.X. in
morning, at their home in a happy mood. J.%. is
photographing Aarti when she gets up and begins
to get ready to go out. As she takes out a
Khaddar Sari, J.X. senses that she plams to go
for a political meeting with her father. J.%.
objects, harshly tells Aarti to stay at home and
look after home and their dawghter. Aarti says
that sometime when she has to go, he can take
leave from work and look after the daughter.
J.K. does not agree and tells Rarti to stop
‘Netagiri' (leadership). Later when Aarti goes
to meet her father, he is very upset. He feels
that he encouraged Aarti to acquire a higher
degree in law and become a barrister so that she
has a bright future ahead. Now she is putting
everything at stake for a lowly hotel manager.
She should not sacrifice her political ambition
and career for him.

0. ¥hat should Aarti do?

(1) sacrifice her political career

and ambition : 28 ({all boys} : 23 {all boys)
{2) go ahead in politics and should :

not waste her talent and education : 3 2
{3} find any other option : 18 (3 boys) ; 20

: with her hus-

: band’s full

: co-operation

: harti can

: balance her

» political

. career with the
: role of mother
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Dilemma - 8

Audio recording supported by oral presentation and black-beard

Micronet computers company is a growing software : ---------------- R EELLEEEE LR
development company. It has made a large profit : Pre-discussion : Post-discussion
this year. The Managing Director believes in : choice : choice
democratic decision making style so he asks the : -----c--o----o-- R AR AL LR
employees to suggest what should be dome with

the profit amount. The employees have three

different opinions :

0.  What should the company do?

{1} The company should declare a good bonus or
organise an incentive tour to Shimla or :
some other hill-station. : 22 (all boys) : 17

{2) The company should pump-in more momey into : :
advertising to increase the market : 1 (boy) 0

{3) The company should open a creche’ cum day
care centre for young children of the :
employees : 30 (all girls) : 30
: : (& few boys ran
away as the
bell went for
recess)
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Dilemma - 9

Drama/Skit performed by students of the Faculty of Journalism and Communication,
The ¥ § University of Baroda

Arvindbhai has retired from qovernment servige ; ---------e------ R L EC TP E
vith a small pension. His wife Savitabahem hags : Pre-discussion : Post-discussion
always been a housewife. Rlder daughter Parul is : choice : choice

a doctor, has been married to a doctor and both : ~-r-emeicoioann- R
are practising in Ahmedabad. Younger daughter :

Jagruti is usmarried, and about to complete her

post-graduate bachelor’s degree in Education

{B.Ed.}. Arviadbhai and Savitabahen has ome son

- Mit - who has just completed his graduation in

Commerce and has got admisgion in a US$ Unlver31ty

for further studies. The university offered him

partial scholarship.

When Mit breaks the news his parenfs are taken
aback. As their only son, they expect that Mit
vill take up a job, support the family and help
in getting Jagruti married. Mit argues that
yhile he studies, Parul the elder daughter who
is a doctor, can support her parents and Jagruti
can also work. This results in family conflict.

Q. What should ¥it do?

{1} Go to USA, leaving the pareats

responsibility with his sisters  : 12 po24
{2} Abandon the idea of further :

studies & look after the family . 14 5
{3) Any other option ;18 ;30

:{a} Mit should come back as soon

: as possible.

:(b) After coming back to India

: Mit should repay whatever the
sisters have spent on looking

: after the family.

:{c) The younger sister should not

: get married and support the
parents till Mit comes back.
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Dilemma - 10

Oral presentation with puppets

Radha and Ajay were studying together and then ; -----------o---s e AL LR R L
got married recently. Radha wants to continue : Pre-discussion : Post-discussion
to dress up the way she used to before they gqot : choice : choice

married. Especially, she does not like to wear : -------vom-eeo--- R LR EEEE PP
everyday all the wedding symbols like Sindoor, :

Bindi and Mamgalsootra. Ajay wants her to

change because his parents are conventional,

0. W®hat should Radha do?

{1} Change to please her hushand

and in-laws ;25 ; g
{2} Do what she wants to do ; 10 15
{3} Any other option ¢ 10 : 18

: Radha should

: wear the wedd-
: ing symbols on
: special occa-

: ssions and

: should not wear
: dresses which

: are too tight

1 or too short.
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Dilemma - 11

Oral presentation with flash-cards

Nandini is studying in Standard 11. She has two : --------------n- fommeeeeeeeeaeen
brothers, Bharat is in the first year of college : Pre-discussion : Post-discussion
and Anil in the 9th standard. Nandini’s mamima : choice : choice .
{maternal grandmother} is very ill so her mother : --------------- SRR ELTEEEEEEEEEE
has to go and live with her for about a month.

Nandini takes up the charge of cooking and mana-

ging the house.

Soon after, Nandini's principal informs her that
she is selected for am exchange programme in
which she will get to travel to many States of
of India.
0. ¥hat should ¥andini do?
{1) Go for the exchange programme HT ;A5
{2} Not go because she should look : :
after the home and cook in her 20 : 7
mother's absence : :

{3) Any other option . L
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Dilemma - 12

Presentation with puppets

Manoj is a bright 17 year old boy. He always gets : ---------vv--n-- T LT
good marks in all subjects but his aptitude : Pre-discussion : Post-discussion
is for arts, especially dance. He wants to : choice : choice

become a dancer and he has just started taking : ------e--eeeoeiioooeiiooeoooon
lessons in Kathak. This gparks off conflict im : ;

his family. His family is totally against the :

idea of a boy taking up dancing as a career. Some :

of his friends too laugh at his idea.

0. What should Manoj de? : .

(1} Stick to his plan to learn

dancing to become a professional ; 16 ;19
{2) Abandon dancing 3 ;11
{3} Rny other optiocn i 5 ;15

:Manoj can conti-
:nue dancing as a
:hobby and take
:up some other

:career
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Dilemma - 13

Role play by journalism and communication students

Winoo and Ashish live and work in Bombay. Mimoo : -----------ov---  EEECLEEE R
delivered a baby girl. She got maternity leave : Pre-discussion : Post-discussion
for three months and looked after the baby. Then : choice . choice

her mother and Ashish’s mother came for a month : ------vnvoven-n- R EEEEEE TR
to help with the baby as Minoo had to resume work.: :

But they can not stay any longer,

Ashish and Minoo would not like to keep their :
daughter in creche so Ashish approaches his boss :
and asks for three months paternity leave. His :
boss first laughs off the matter and then gets :
angry but Ashish persists. :

0. What should the Boss do?

{1} Allow paternity leave to Ashish . 16 ;18
{2] WNot allow pateraity leave to : :
Ashish Y ;12
{3} Any other option : : rest did not
: ¢ respond.
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Dilemma - 14

Role play by students of the group

Mamta is a Gujarati woman. She is a teacher in @ -------e-ennnoo- LR EE R PR
a college. Avanish, a Maharashtrianm is also : Pre-discussion : Post-discussion
teaching in the same college. They decide to : choice : choice

get married and parents of both are happy with & ---------evcennes R E e
their decision. After marriage Mamta lives

with her husband and bhis family. Avanish's

family has non-vegetarian eating habits while

Mamta is a staunch vegetarian. Her in-laws

prefer that she gradeally develops the faste

for non-veg food. Even if she does not eat she

she must learn how to cook non-veg food. Hamta

is ethically against non-vegetarian eating.

0. What should Mamta do?

(1} FPorget her principles and adopt :
her in-laws’s eating habits. ¢ 16 (10 girls) : 10

{2} Stick to vegetarian food and :
refuse to cook non-veg food. Y| ;12

(3) Stick to vegetarian food but :
learn to cook non-veg food. U HE ]

292



Bilemma - 15

Video Recording

Sarla is an officer in a big company where Seema : ---------------- R AR E LR
has just joined as her assistant. One day Sarla : Pre-discussion : Post-discussion
finds Seema very upset. Seema confides that a : choice > choice

male officer has been making passes at her. He : ------ev-nei-n-- R L
also writes vulgar letters. Sarla says that : :

Seema should at once report it to their boss.

But Seema hesitates. She says that when she

conplained about it at home her mother said that

it was all Seema's fault. She wears fashionable

dresses and has her hair cut. Morever, complai-

ning to the Boss will malign Seema’s reputation

not the male officer’s.

§. What should Seema do?

{1} Complain to the Boss Y {18 boys) Y
{2) Not complain to the Boss ; 19 ; 9
{3} Any other opticn ; 10 ; 16

Seema should not wear dresses
which exposes her body and if
her male colleague repeats his
action, she should complain to
the boss.
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Dilemma - 16

Pilm clip recorded on video

The film clip is taken from the Hindi film ¢ ------vreeoonn-s e EREREELEETEH

‘Abhiman’ directed by Hrishikesh Mukherjee : Pre-discussion : Post-dizcussion:
and starring Amitabh Bachchan as Amit, Jaya : choice : choice :
Bhaduri as Sudha and J Omprakash as a family @ -------vvmeenn-- R RREE LR EE
friend. :

Amit is a very famous singer. One day on a
visit to his village, he hears Sudha singing,
falls in love with her and they get married.

The scene on the video shows the wedding

reception of Amit and Sudha. On the behest

of the gquests the couple sings a duet.

Listening to their singing OmPrakash predicts
that the alliance is in trouble because Sudha
is a much better singer compared to Amit.

0. What should Sudha do?

{1} Continue to sing professionally -
with Amit, 38 43

{2} Should not take up singing as a :
career, ;15 0

{3} Any other option

294



